Warm Up 9/5/18

1. Evaluate: |[12-8|+|-15+-2|-7
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2. Simplify: 17.28 + 54
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3. Order from least to greatest: _
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Addition
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Answer will be positive
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f%ﬂ Answer will be: negative
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(Take the sign of the larger absolute valu
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Do the numbers have the SAME SIGN?

YES - SameSigns: _ Different signs:
Find the SUM: NO Find the
DIFFERENCE:
(=3)+4=6]i={=9) 5:5) (=7 = (=2)
(+4) + (+5) = (+9) (-4) + (+6) = (+2)

Either way: Keep the sign of the LARGER" number.
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SUBTRACTING
INTEGERS



Keep - Change - Change

Keep the first # the same

Change subtraction sign to
addition sign

Change the sign of the

second #









ADD THE OPPOSITE

2 Steps:

1)Change the subftraction sign (- ) to an
addition sign ( +)

2) Change the sign ( +/ - ) of the
second integer










INTEGER
MULTIPLICATION

& DIVISION

SAME signs... DIFFERENT signs...
Equals a POSITIVE | Equals a NEGATIVE

+ X + =+ +x-=-

- X-=+ - X+ = -



A Way To Remember the Signs for
Multiplying and Dividing

Think of shoes....
Do they match? Or do you have one of each?

NOT MATCHING

MATCHING

When shoes match...that is a POSITIVE thing
When shoes don't match...that is a NEGATIVE thing
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